
MATHS

NCERT - FULL MARKS MATHEMATICS(TAMIL)

INTEGRAL CALCULUS

Exercise 11 1

1. Integrate the with respect to x: 

View Text Solution

x11

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vLqOurztCJKH


2. Integrate the with respect to x: 

View Text Solution

1

x7

3. Integrate the with respect to x: 

View Text Solution

3√x
4

4. Integrate the with respect to x: 

View Text Solution

(x5)
1

8

https://dl.doubtnut.com/l/_6jrzVmbcalji
https://dl.doubtnut.com/l/_vMThArB1JqaL
https://dl.doubtnut.com/l/_XoBcmMknSQhT
https://dl.doubtnut.com/l/_hUXuCde8mLVC


5. Integrate the with respect to x: 

View Text Solution

1

sin2 x

6. Integrate the with respect to x: 

View Text Solution

tanx

cos x

7. Integrate the with respect to x: 

View Text Solution

cos x

sin2 x

https://dl.doubtnut.com/l/_hUXuCde8mLVC
https://dl.doubtnut.com/l/_Ka7N0HGk5ibX
https://dl.doubtnut.com/l/_iPEzth8ZwPJh
https://dl.doubtnut.com/l/_P58bQciAKzuQ


8. Integrate the with respect to x: 

View Text Solution

1

cos2 x

9. Integrate the with respect to x: 

View Text Solution

123

10. Integrate the with respect to x: 

View Text Solution

x24

x25

https://dl.doubtnut.com/l/_P58bQciAKzuQ
https://dl.doubtnut.com/l/_2qo2IYuaaMs7
https://dl.doubtnut.com/l/_KAVHam2xjScf
https://dl.doubtnut.com/l/_eb8f79gw0jN9


11. Integrate the with respect to x: 

View Text Solution

ex

12. Integrate the with respect to x: 

View Text Solution

(1 + x2)
− 1

13. Integrate the with respect to x: 

View Text Solution

(1 − x2)
− 1

2

https://dl.doubtnut.com/l/_eb8f79gw0jN9
https://dl.doubtnut.com/l/_Lr59KQs4c2DO
https://dl.doubtnut.com/l/_dTT0ijogapCy


Exercise 11 2

1. Integrate the functions with respect to x: 

View Text Solution

(x + 5)6

2. Integrate the functions with respect to x: 

View Text Solution

1

(2 − 3x)4

3. Integrate the functions with respect to x: 

√3x + 2

https://dl.doubtnut.com/l/_8wEXSyO36Fki
https://dl.doubtnut.com/l/_F7FPaf4MPSgv
https://dl.doubtnut.com/l/_qfgBI128boRN


View Text Solution

4. Integrate the functions with respect to x: 

sin 3x

View Text Solution

5. Integrate the functions with respect to x: 

cos (5-11x)

View Text Solution

6. Integrate the functions with respect to x: 

i l i

cos ec2(5x − 7)

https://dl.doubtnut.com/l/_qfgBI128boRN
https://dl.doubtnut.com/l/_pNhhgVRXW4sM
https://dl.doubtnut.com/l/_h7ifyNSEhkxl
https://dl.doubtnut.com/l/_7vQZXJZlvg5a


View Text Solution

7. Integrate the functions with respect to x: 

View Text Solution

e3x− 6

8. Integrate the functions with respect to x: 

View Text Solution

e8 − 7x

9. Integrate the functions with respect to x: 

Vi T t S l ti

1

6 − 4x

https://dl.doubtnut.com/l/_7vQZXJZlvg5a
https://dl.doubtnut.com/l/_lXInDf8EgzSt
https://dl.doubtnut.com/l/_BVr03IYSBMrr
https://dl.doubtnut.com/l/_IyGrtHqX4ubX


View Text Solution

10. Integrate the functions with respect to x: 

View Text Solution

sec2 x

5

11. Integrate the functions with respect to x: 

View Text Solution

cos ec(5x + 3)cot(5x + 3)

12. Integrate the functions with respect to x: 

30 sec (2-15x) tan (2-15x)

View Text Solution

https://dl.doubtnut.com/l/_IyGrtHqX4ubX
https://dl.doubtnut.com/l/_Y4PMmnTtLJ9z
https://dl.doubtnut.com/l/_rVBWrxk7OptL
https://dl.doubtnut.com/l/_Fai4ljSJCyMB


View Text Solution

13. Integrate the functions with respect to x: 

View Text Solution

1

√4x
2

14. Integrate the functions with respect to x: 

View Text Solution

1

√1 − 81x2

15. Integrate the functions with respect to x: 

i l i

1

1 + 36x2

https://dl.doubtnut.com/l/_Fai4ljSJCyMB
https://dl.doubtnut.com/l/_z7RlDIL3xWNO
https://dl.doubtnut.com/l/_NoRNQ3mGWlV5
https://dl.doubtnut.com/l/_w0X0MbJ7mBsj


Exercise 11 3

View Text Solution

1. Integrate the with respect to x: 

View Text Solution

(x + 4)5 + − cos ec2(3x − 1)
5

(2 − 5x)4

2. Integrate the with respect to x: 

View Text Solution

4 cos(5 − 2x) + 9e3x− 6 +
24

6 − 4x

https://dl.doubtnut.com/l/_w0X0MbJ7mBsj
https://dl.doubtnut.com/l/_OOPBWadPIRv4
https://dl.doubtnut.com/l/_HipplIdy97bE


3. Integrate the with respect to x: 

View Text Solution

sec2 + 18 cos 2x + 10 sec(5x + 13)tan(5x + 3)tan(5x + 3)
x

5

4. Integrate the with respect to x: 

\

View Text Solution

+ −
8

√1 − (4x)2

27

√1 − 9x2

15

1 + 25x2

5. Integrate the with respect to x: 

View Text Solution

−
6

1 + (3x + 2)2

12

√1 − (3 − 4x)2

https://dl.doubtnut.com/l/_B5ymDwL3BRtn
https://dl.doubtnut.com/l/_pXsXLugD60Xo
https://dl.doubtnut.com/l/_d5njT82ig2dG


Exercise 11 4

6. Integrate the with respect to x: 

View Text Solution

cos( − 4) + + e + 31

3

x

3

7

7x + 9

x

5

1. If f'(x) = 4x -5 and f(2) =1 find f(x).

View Text Solution

2. If f'(x) =  and f(0) = -3 , find f(x) .

View Text Solution

9x2 − 6x

https://dl.doubtnut.com/l/_d5njT82ig2dG
https://dl.doubtnut.com/l/_yFFg6FN8jV3U
https://dl.doubtnut.com/l/_1z1eAukQ1hDa
https://dl.doubtnut.com/l/_zXxOa6WoZNla


3. If f''(x) =12 x -6 and f(1) =30 , f'(1) =5 find f(x).

View Text Solution

4. A ball is thrown vertically upward from the ground with

an initial velocity of 39.2 m/sec. If the only force considered

is that attributed to the acceleration due to gravity find 

(i) how long will it take for the ball to strike the ground ? 

(ii) the speed with which will it strike the ground ? and 

(iii) how high the ball will rise ?

View Text Solution

https://dl.doubtnut.com/l/_zXxOa6WoZNla
https://dl.doubtnut.com/l/_3ZdrkFu1HpA3
https://dl.doubtnut.com/l/_8KcrirfYuOzy


Exercise 11 5

5. A wound is healing in such a way that t days since

Sunday the area of the wound has been decreasing at a

rate of  per day. If on Monday the area of

the wound was 2  


(i) What was the area of the wound on Sunday ? 

(ii) What is the anticipated area of the wound on Thursday

if it continues to heal at the same rate ?

View Text Solution

− cm23

(t + 2)2

cm2

1. Integrate the functions with respect to x : 

x3 + 4x2 − 3x + 2

x2

https://dl.doubtnut.com/l/_YgQcXuDvkzCA
https://dl.doubtnut.com/l/_4pSMdaoNQxhK


View Text Solution

2. Integrate the functions with respect to x : 

View Text Solution

(√x + )

2
1

√x

3. Integrate the functions with respect to x : 

(2x-5) (36+4x)

View Text Solution

4. Integrate the functions with respect to x : 

cot2 x + tan2 x

https://dl.doubtnut.com/l/_4pSMdaoNQxhK
https://dl.doubtnut.com/l/_EQSF7q6C7T5f
https://dl.doubtnut.com/l/_KOx2fYIAUXmw
https://dl.doubtnut.com/l/_nhr6LA5bhViV


View Text Solution

5. Integrate the functions with respect to x : 

View Text Solution

cos 2x − cos 2a

cos x − cos a

6. Integrate the functions with respect to x : 

View Text Solution

co2x

sin2 x cos2 x

7. Integrate the functions with respect to x : 

3 + 4 cos x

sin2 x

https://dl.doubtnut.com/l/_nhr6LA5bhViV
https://dl.doubtnut.com/l/_zoDS2XZOtZ4a
https://dl.doubtnut.com/l/_VKcDWFQI7e8K
https://dl.doubtnut.com/l/_Yf08GjWaKt6E


View Text Solution

8. Integrate the functions with respect to x : 

View Text Solution

sin2

1 + cos x

9. Integrate the functions with respect to x : 

View Text Solution

sin 4x

sinx

10. Integrate the functions with respect to x : 

cos(3x)cos 2x

https://dl.doubtnut.com/l/_Yf08GjWaKt6E
https://dl.doubtnut.com/l/_lSaoVsNio2n8
https://dl.doubtnut.com/l/_R6cORh3jhLhD
https://dl.doubtnut.com/l/_3rDo9DHsDI2x


View Text Solution

11. Integrate the functions with respect to x : 

View Text Solution

sin2 5x

12. Integrate the functions with respect to x : 

View Text Solution

1 + cos 4x
cot x − tanx

13. Integrate the functions with respect to x : 

ex log aex

https://dl.doubtnut.com/l/_3rDo9DHsDI2x
https://dl.doubtnut.com/l/_q9DYCgk9IEyk
https://dl.doubtnut.com/l/_qFlnLNjTfwKh
https://dl.doubtnut.com/l/_QlImCgSgEUjJ


View Text Solution

14. Integrate the functions with respect to x : 

View Text Solution

(3x + 4)√3x + 7

15. Integrate the functions with respect to x : 

View Text Solution

81 +x + 41 −x

2x

16. Integrate the functions with respect to x : 

1

√x + 3 − √x − 4

https://dl.doubtnut.com/l/_QlImCgSgEUjJ
https://dl.doubtnut.com/l/_EbsfraB0qvoX
https://dl.doubtnut.com/l/_ZhNzlNKjOt1D
https://dl.doubtnut.com/l/_BtY9CMPFDoaf


View Text Solution

17. Integrate the functions with respect to x : 

View Text Solution

x + 1

(x + 2)(x + 3)

18. Integrate the functions with respect to x : 

View Text Solution

1

(x − 1)(x + 2)2

19. Integrate the functions with respect to x : 

3x − 9

(x − 1)(x + 2)(x2 − 1)

https://dl.doubtnut.com/l/_BtY9CMPFDoaf
https://dl.doubtnut.com/l/_RjdfBVBqjjLI
https://dl.doubtnut.com/l/_mqLObi9YNvzY
https://dl.doubtnut.com/l/_SeH2NlMHL15W


Exercise 11 6

View Text Solution

20. Integrate the functions with respect to x : 

View Text Solution

x3

(x − 1)(x − 2)

1. Integrate the with respect to x 

View Text Solution

x

√1 + x2

https://dl.doubtnut.com/l/_SeH2NlMHL15W
https://dl.doubtnut.com/l/_ZIgb6HZpfgtC
https://dl.doubtnut.com/l/_FyCSh8Y0VqWY


2. Integrate the with respect to x 

View Text Solution

x2

1 + x6

3. Integrate the with respect to x 

View Text Solution

ex − e−x

ex + e−x

4. Integrate the with respect to x 

View Text Solution

10x9 + 10x loge 10

10x + x10

https://dl.doubtnut.com/l/_QiFm94MECX3Q
https://dl.doubtnut.com/l/_JZUB2p5u3iFL
https://dl.doubtnut.com/l/_DZbBC4vkljzM


5. Integrate the with respect to x 

View Text Solution

sin √x

√x

6. Integrate the with respect to x 

View Text Solution

cot x

log(sinx)

7. Integrate the with respect to x 

View Text Solution

cos ecx

log(tan )x
2

https://dl.doubtnut.com/l/_pCIBIdQuiIP3
https://dl.doubtnut.com/l/_M623iDfk2nHn
https://dl.doubtnut.com/l/_IKmxk0x0mrE1


8. Integrate the with respect to x 

View Text Solution

sin 2x

a2 + b2 sin2 x

9. Integrate the with respect to x 

View Text Solution

sin− 1 x

√1 − x2

10. Integrate the with respect to x 

View Text Solution

√x

1 + √x

https://dl.doubtnut.com/l/_IKmxk0x0mrE1
https://dl.doubtnut.com/l/_ATnLNvwSHQZW
https://dl.doubtnut.com/l/_F32ylG2bJYZc
https://dl.doubtnut.com/l/_xyEcELrorvjh


11. Integrate the with respect to x 

View Text Solution

1

x logx log(logx)

12. Integrate the with respect to x 

View Text Solution

αβxa− 1e−βxα

13. Integrate the with respect to x 

View Text Solution

tanx√secx

https://dl.doubtnut.com/l/_xyEcELrorvjh
https://dl.doubtnut.com/l/_mpDw6xFdqQu7
https://dl.doubtnut.com/l/_tCTYXZbbJDPK
https://dl.doubtnut.com/l/_3qkwSSmi4sAg


14. Integrate the with respect to x 

View Text Solution

x(1 − x)17

15. Integrate the with respect to x 

View Text Solution

sin5 x cos3 x

16. Integrate the with respect to x 

View Text Solution

cos x

cos(x − a)

https://dl.doubtnut.com/l/_3qkwSSmi4sAg
https://dl.doubtnut.com/l/_9KIO7n3coVhi
https://dl.doubtnut.com/l/_Q3xilXPbT7io
https://dl.doubtnut.com/l/_158agFrlBLVX


Exercise 11 7

1. Integrate the with respect to x: 

View Text Solution

9xe3x

2. Integrate the with respect to x: 

x sin 3x

View Text Solution

https://dl.doubtnut.com/l/_158agFrlBLVX
https://dl.doubtnut.com/l/_XxCgrfNZcmtM
https://dl.doubtnut.com/l/_5pmCfdpMHAEy


3. Integrate the with respect to x: 

View Text Solution

25xe− 5x

4. Integrate the with respect to x: 

View Text Solution

x secx tanx

5. Integrate the with respect to x: 

View Text Solution

x logx

https://dl.doubtnut.com/l/_udYYN2M9CMlo
https://dl.doubtnut.com/l/_1cBCQC4Cfmz5
https://dl.doubtnut.com/l/_mWRycszvCOar
https://dl.doubtnut.com/l/_qNs62Ji2ObGT


6. Integrate the with respect to x: 

View Text Solution

27x2e3x

7. Integrate the with respect to x: 

View Text Solution

x2 cos x

8. Integrate the with respect to x: 

View Text Solution

x3 sinx

https://dl.doubtnut.com/l/_qNs62Ji2ObGT
https://dl.doubtnut.com/l/_a9ShS3mvTSCK
https://dl.doubtnut.com/l/_6oZbRhvnco8l
https://dl.doubtnut.com/l/_9HFDYXPaWK5z


9. Integrate the with respect to x: 

View Text Solution

x sin− 1

√1 − x2

10. Integrate the with respect to x: 

View Text Solution

x5ex
2

11. Integrate the with respect to x: 

View Text Solution

tan− 1( )
8x

1 − 17x2

https://dl.doubtnut.com/l/_9HFDYXPaWK5z
https://dl.doubtnut.com/l/_gMZ5NvRPfCLk
https://dl.doubtnut.com/l/_JIiBQZioJZMf
https://dl.doubtnut.com/l/_fMpK3u5iWaeO


Exercise 11 8

12. Integrate the with respect to x: 

View Text Solution

sin− 1( )
2x

1 + x2

1. Integrate the with respect to x 

View Text Solution

eax cos bx

2. Integrate the with respect to x 

e2x sinx

https://dl.doubtnut.com/l/_fMpK3u5iWaeO
https://dl.doubtnut.com/l/_cO8S5ufvcCvj
https://dl.doubtnut.com/l/_CXR3yz7awnF3


View Text Solution

3. Integrate the with respect to x 

View Text Solution

e−x cos 2x

4. Integrate the with respect to x 

View Text Solution

e− 3x sin 2x

5. Integrate the with respect to x 

e− 4x sin 2x

https://dl.doubtnut.com/l/_CXR3yz7awnF3
https://dl.doubtnut.com/l/_ezbVSOD6ODA5
https://dl.doubtnut.com/l/_UgOyYXJBQ8Ep
https://dl.doubtnut.com/l/_HUqHQfFOpzPO


Exercise 11 9

View Text Solution

6. Integrate the with respect to x 

View Text Solution

e− 3x cos x

1. Integrate the with respect to x: 

View Text Solution

ex(tanx + log secx)

https://dl.doubtnut.com/l/_HUqHQfFOpzPO
https://dl.doubtnut.com/l/_TZn3XzV2Szv0
https://dl.doubtnut.com/l/_WVjMAlgoKaFm


2. Integrate the with respect to x: 

View Text Solution

ex( )
x − 1

2x2

3. Integrate the with respect to x: 

View Text Solution

ex secx(1 + tanx)

4. Integrate the with respect to x: 

View Text Solution

ex( )
2 + sin 2x

1 + cos 2x

https://dl.doubtnut.com/l/_rfi5hQS8KDdU
https://dl.doubtnut.com/l/_4lTJcfHUGtrE
https://dl.doubtnut.com/l/_RtM34oL0XwQY


Exercise 11 10

5. Integrate the with respect to x: 

View Text Solution

etan − 1x( )
1 + x + x2

1 + x2

6. Integrate the with respect to x: 

View Text Solution

logx

(1 + logx)2

1. Find the integrals of the : 

1

4 − x2

https://dl.doubtnut.com/l/_M2FpWf8aijO0
https://dl.doubtnut.com/l/_7lUFb7YrZz3g
https://dl.doubtnut.com/l/_0ZCDbkZxdwyQ


View Text Solution

2. Find the integrals of the : 

View Text Solution

1

25 − 4x2

3. Find the integrals of the : 

View Text Solution

1

9x2 − 4

4. Find the integrals of the : 

1

6x − 7 − x2

https://dl.doubtnut.com/l/_0ZCDbkZxdwyQ
https://dl.doubtnut.com/l/_je9PyliXP5eS
https://dl.doubtnut.com/l/_QvDjvTykXuSv
https://dl.doubtnut.com/l/_Ihu5MvuVG2Y5


View Text Solution

5. Find the integrals of the : 

View Text Solution

1

(x + 1)2 − 25

6. Find the integrals of the : 

View Text Solution

1

√x2 + 4x + 2

https://dl.doubtnut.com/l/_Ihu5MvuVG2Y5
https://dl.doubtnut.com/l/_4tiSc8Cux6od
https://dl.doubtnut.com/l/_aUHa8lItMp8I


7. Find the integrals of the : 

View Text Solution

1

√(2 + x)2 − 1

8. Find the integrals of the : 

View Text Solution

1

√x2 − 4x + 5

9. Find the integrals of the : 

View Text Solution

1

√9 + 8x − x2

https://dl.doubtnut.com/l/_nEs2ASPsXZfc
https://dl.doubtnut.com/l/_a7AUE8ibjceH
https://dl.doubtnut.com/l/_Py9m9XtRuPkR


Exercise 11 11

1. Integrate the with respect to x : 

View Text Solution

2x − 3

x2 + 4x − 12

2. Integrate the with respect to x : 

View Text Solution

5x − 2

2 + 2x + x2

https://dl.doubtnut.com/l/_NQaIVBqGNL5y
https://dl.doubtnut.com/l/_2EkMBdn4hYIq


3. Integrate the with respect to x : 

View Text Solution

3x + 1

2x2 − 2x + 3

4. Integrate the with respect to x : 

View Text Solution

2x + 1

√9 + 4x − x2

5. Integrate the with respect to x : 

View Text Solution

x + 2

√x2 − 1

https://dl.doubtnut.com/l/_dJP1ohRWEMj6
https://dl.doubtnut.com/l/_Ijc804QQY0Y8
https://dl.doubtnut.com/l/_9w2XsWOyIjfC


Exercise 11 12

6. Integrate the with respect to x : 

View Text Solution

2x + 3

√x2 + 4x + 1

1. Integrate the functions with respect to x : 

View Text Solution

√x2 + 2x + 10

2. Integrate the functions with respect to x : 

√x2 + 2x + 3

https://dl.doubtnut.com/l/_GM2E3SmYT7bS
https://dl.doubtnut.com/l/_4QB7PuIt8wHL
https://dl.doubtnut.com/l/_jhzxBBu5THBu


View Text Solution

3. Integrate the functions with respect to x : 

View Text Solution

√(6 − x)(x − 4)

4. Integrate the functions with respect to x : 

View Text Solution

√9 − (2x + 5)
2

5. Integrate the functions with respect to x : 

√81 − (2x + 1)
2

https://dl.doubtnut.com/l/_jhzxBBu5THBu
https://dl.doubtnut.com/l/_P9p6CJ2q8UsL
https://dl.doubtnut.com/l/_aQCbrYlJDUJl
https://dl.doubtnut.com/l/_qYLtKwRWzDCC


Exercise 11 13

View Text Solution

6. Integrate the functions with respect to x : 

View Text Solution

√(x + 1)
2

− 4

1. If  f(x) dx = g(x) +c , then 

A. 

B.  f(x) g (x) dx

C. 

∫ ∫f(x)g' (x)dx

f(f(x))
2
dx

∫

∫f(x)g(x)dx

https://dl.doubtnut.com/l/_qYLtKwRWzDCC
https://dl.doubtnut.com/l/_HWn2Fs7vwEvl
https://dl.doubtnut.com/l/_TwTxXkk1sGLr


D. 

Answer: A

View Text Solution

∫(g(x))2
dx

2. If  then the value of k is

A. log 3

B. 

C. 

D. 

Answer: C

View Text Solution

∫ dx = k (3 ) + c

31

x

x2

1
x

−log 3

−
1

log 3

−
1

log 3

https://dl.doubtnut.com/l/_TwTxXkk1sGLr
https://dl.doubtnut.com/l/_sO4g1zxWs3ze


3. If  dx= 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫f' (x)ex
2

(x − 1)e
x2

+ c

2x3 − + x + c
x2

2

+ 3x2 + 4x + c
x3

2

x3 + 4x2 + 6x + c

− x2 + x + c
2x3

3

4. The gradient (slope) of a curve at any point (x, y) is

 . If the curve passes through the point (2,7), then
x2 − 4

x2

https://dl.doubtnut.com/l/_sO4g1zxWs3ze
https://dl.doubtnut.com/l/_1TzbDvAg0fWH
https://dl.doubtnut.com/l/_Z1ygIta3wMuK


the equation of the curve is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

y = x + + 3
4
x

y = x + + 4
4
x

y = x2 + 3x + 4

y = x2 − 3x + 6

5.  


A. 

B. 

∫
xx(1 + x)

cos2(xex)

cot(xex) + c

sec(xex) + c

https://dl.doubtnut.com/l/_Z1ygIta3wMuK
https://dl.doubtnut.com/l/_0Vjy868MlOBn


C. 

D. 

Answer: C

View Text Solution

tan(xex) + c

cos(xex) + c

6.  is

A. 

B. 

C. 

D. 

Answer: A

∫ dx
√tanx

sin 2x

√tanx + c

2√tanx + c

√tanx + c
1

2

√tanx + c
1

4

https://dl.doubtnut.com/l/_0Vjy868MlOBn
https://dl.doubtnut.com/l/_Fy0HLbQ7BhHQ


View Text Solution

7.  xdx is

A.  cos x 

B.  cos x 

C.  cos x +

D.  sinx 

Answer: C

View Text Solution

∫sin3

−3

4
− + c

cos 3x

12

3

4
+ + c

cos 3x

12

−3

4
+ c

cos 3x

12

−3

4
− + c

sin 3x

12

8. dx is∫
e5 logx − e5 logx

e4 logx − e3 logx
  

https://dl.doubtnut.com/l/_Fy0HLbQ7BhHQ
https://dl.doubtnut.com/l/_7zZP2vyW2kV3
https://dl.doubtnut.com/l/_aWq8m5sSdefX


A. x+c

B. 

C. 

D. 

Answer: B

View Text Solution

+ c
x3

3

+ c
3

x3

+ c
1

x2

9.  is

A.  (sinx ) +c

B.  (tan x) +c

C.  (cos x) +c

∫ dx
secx

√cos 2x

tan− 1

2 sin− 1

tan− 1

https://dl.doubtnut.com/l/_aWq8m5sSdefX
https://dl.doubtnut.com/l/_0m8jmvAY2s0H


D.  (tan x ) +c

Answer: D

View Text Solution

sin− 1

10.  dx is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫tan− 1 √
1 − cos 2x

1 + cos 2x

x2 + c

2x2 + c

+ c
x2

2

− + c
x2

2

https://dl.doubtnut.com/l/_0m8jmvAY2s0H
https://dl.doubtnut.com/l/_0NkNBvJe5Q6P


11.  dx is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫23x+ 5

+ c
3(22x+ 5)

log 2

+ c
23x+ 5

2 log(3x + 5)

+ c
23x+ 5

2 log 3

+ c
23x+ 5

3 log 2

12. dx is

A. 

∫
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

sin 2x + c
1

2

https://dl.doubtnut.com/l/_0NkNBvJe5Q6P
https://dl.doubtnut.com/l/_td5GNGYMfqB9
https://dl.doubtnut.com/l/_BMFHcLUFDrzj


B. 

C. 

D. 

Answer: B

View Text Solution

− sin 2x + c
1

2

cos 2x + c
1

2

− cos 2x + c
1

2

13.  is

A. 

B. 

C. 

D. 

∫ dx
ex(x2 tan− 1 x + tan− 1 x + 1)

x2 + 1

ex tan− 1(x + 1) + c

tan− 1(ex) + c

ex + c
(tan− 1 x)

2

2

ex tan− 1 x + c

https://dl.doubtnut.com/l/_BMFHcLUFDrzj
https://dl.doubtnut.com/l/_t2d8r6ht5uE0


Answer: D

View Text Solution

14.  xdx is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫ cos ec2x2 + cos2 x

x2 + 1

cot x + sin− 1 x + c

−cot x + tan− 1 x + c

−tanx + cot − 1 x + c

−cot x − tan− 1 x + c

https://dl.doubtnut.com/l/_t2d8r6ht5uE0
https://dl.doubtnut.com/l/_Okpa0T5IQZCP
https://dl.doubtnut.com/l/_cm8fpGUtYfqh


15.  is

A. 

B. 

C.  sin x +2x cos x +2 sin x +c

D.  sinx -2 x cos x +2 sinx +c

Answer: A

View Text Solution

∫x2 cos xdx

x2 sinx + 2x cos x − 2 sinx + c

x2 sinx − 2x cos x − 2 sinx + c

−x2

−x2

16.  is

A. 

B. 

∫√ dx
1 − x

1 + x

√1 − x2 + sin− 1
x + c

sin− 1
x − √1 − x2 + c

https://dl.doubtnut.com/l/_cm8fpGUtYfqh
https://dl.doubtnut.com/l/_GTc1HLxFZLz0


C. 

D. 

Answer: B

View Text Solution

log∣
∣x + √1 + x2∣

∣ − √1 − x2 + c

√1 − x2 + log∣
∣x + √1 − x2∣

∣ + c

17.  is

A. 

B. 

C. log | 

D. log 

Answer: C

∫
dx

ex − 1

log|ex| − log|ex − 1| + c

log|ex| + log|ex − 1| + c

ex − 1| − log|ex ∣ + c

|ex + 1| − log|ex| + c

https://dl.doubtnut.com/l/_GTc1HLxFZLz0
https://dl.doubtnut.com/l/_BzXnR5vIVlIb


View Text Solution

18. cos x dx is

A.  [ 4 cos x - sin x] +c

B.  [-4 cos x + sin x] +c

C.  [ 4 cos x + sin x] +c

D. [ -4 cos x - sin x] +c

Answer: B

View Text Solution

∫e− 4x

e− 4x

17

e− 4x

17

e− 4x

17

e− 4x

17

19. ∫ dx
sec2

tan2 x − 1

https://dl.doubtnut.com/l/_BzXnR5vIVlIb
https://dl.doubtnut.com/l/_nt41qQVc7TV8
https://dl.doubtnut.com/l/_YCUOBnFFCcYP


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

2 log + c
|1 − tanx|

|tanx − 1|

log + c
|1 + tanx|

|tanx − 1|

log + c
1

2

|tanx + 1|

|tanx − 1|

log + c
1

2

|tanx − 1|

|tanx + 1|

20.  sin 5x dx is

A. [ -7 sin5x -5 cos 5x]+c

B. [7 sin5x+5 cos 5x]+c

C. [7 sin 5x-5cos 5x]+c

∫e− 7x

e− 7x

74

e− 7x

74

e− 7x

74

https://dl.doubtnut.com/l/_YCUOBnFFCcYP
https://dl.doubtnut.com/l/_chpttA28Toc6


D. [-7 sin 5x-5cos 5x]+c

Answer: A

View Text Solution

e− 7x

74

21. dx is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫x2e
x

2

x2e − xe − 8e + c
x

2
x

2
x

2

2x2e − 8xe − 16e + c
x

2
x

2
x

2

2x2e − 8xe + 16e + c
x

2
x

2
x

2

x2 − + + c
e

x

2

2
xe

x

2

4
e

x

2

8

https://dl.doubtnut.com/l/_chpttA28Toc6
https://dl.doubtnut.com/l/_1JO0myywH3E6


22.  dx is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
x − 2

√x2 − 1

√x2 − 1 − 2log∣
∣x + √x2 + 1∣

∣ + c

sin− 1 x + 2 log ∣ x + √x2 − 1 + c

2 log∣
∣x + √x2 − 1∣

∣ − sin− 1 x + c

√x2 − 1 + 2 log ∣ x + √x2 − 1∣∣ + c

23.  is∫ dx
1

x√(logx)2 − 5

https://dl.doubtnut.com/l/_1JO0myywH3E6
https://dl.doubtnut.com/l/_VSFTqTF4jkHI
https://dl.doubtnut.com/l/_WkfVDm54h4Ea


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

log∣
∣x + √x2 − 5∣

∣ + c

log∣∣logx + √logx + 5∣∣ + c

log ∣ logx + √(logx)2 − 5∣∣ + c

log
∣
∣
∣
logx − √(logx)2 − 5

∣
∣
∣

+ c

24.  dx is

A. 

B. 

C. 

∫sin √x

2( − √x cos √x + sin √x) + c

2( − √x cos √x − sin √x) + c

2( − √x sin √x − cos √x) + c

https://dl.doubtnut.com/l/_WkfVDm54h4Ea
https://dl.doubtnut.com/l/_8PT98n4nbqou


D. 

Answer: A

View Text Solution

2( − √x sin √x + cos √x) + c

25. dx is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫e√x

2√x(1 − e√x) + c

2√x(e√x − 1) + c

2e√x(1 − √x) + c

2e√x(√x − 1) + c

https://dl.doubtnut.com/l/_8PT98n4nbqou
https://dl.doubtnut.com/l/_lUbnSDwcO8dN


https://dl.doubtnut.com/l/_lUbnSDwcO8dN

